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Alphabet Test Questions for IBPS PO Pre, LIC AAO, SBI PO
Pre and other competitive Exams

Alphabet Test Quiz 11

Directions: Read the following questions carefully and choose the right answer.

1. In the word “DUTIFUL”, how many pair of letters has as many letters in between as they have in
between them in English alphabet series?

A. None B.1 C.2

D.3 E. None of these

2. How many such pairs of letters are there in the word 'PERFORATE' which have as many letters
between them as in the English alphabetical series?

A. None B. One C. Two

D. Three E. More than three

3. Each vowel of the word ADJECTIVE is substituted with the next letter of the English alphabetical series,
and each consonant is substituted with the letter preceding it. How many vowels are present in the new

arrangement?
A. None B. One C.Two
D. Three E. None of these

4. How many such pairs of letters are there in the word BEHAVIOUR each of which has as many letters
between them in the word as in the English alphabet?

A. None B. One C. Two

D. Three E. More than three

5. What will be the last letter of the meaningful 4-letter English word formed using 1st and 5th letter of
“Barber” along with 2nd and 6th letter of “Parking” such that each letter to be used once? If more than
one such word can be formed then mark ‘X’ as your answer, if no such word can be formed then mark
“Y’ as your answer.

A.N B.E C.A

D. X E.Y

6. How many pair of letters are there in the word “ENTRENCH” which has as many letters (in any
direction either forward or backward) in between as they have in English alphabet series?

A. None B.1 C.2

D.3 E.4

7. If all the letters at even numbered position from left end in the word “AVENGERS” are changed to
their previous letter as per English alphabet series then which of the following meaningful words can be
formed using 2nd, 3rd, 6th and 8th letters of the new word?

. RUDE

IIl. RAGE

IIl. DURE

A.Only | B. Only I1I C.Only I and IIl
D. Only land Il E.AllL, Il and Ill
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8. How many such pairs of letters are there in the word ‘GASTROINTESTINAL’ each of which has as many
letters between them as in English alphabetical series (only in backward direction)?

A 4 B.1 C.2

D.3 E. More than 4

9. If a meaningful English word has to be formed using 1%, 4™, 6™, 8" and 9™ letters of the word (each
letter to be used only once) ‘PLASMODIUM’ then which of the following will be the 4th letter from the
right end? If more than one such word can be formed then mark ‘X’ as your answer and if no meaningful
word can be formed then mark ‘2’ as your answer?

A.S B. | c.u

D.Z E.X

10. How many such pairs of letters are there in the word ‘STREPTOCOCCUS’ each of which has as many
letters between them as in English alphabetical series ?

A. 4 B.1 C.2

D.3 E. More than 4
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Correct answer:

Explanation:
1.
u T
T U
I F U
I J K
Clearly there are 2 such pairs.
Hence option C is correct.
2.
v Y
16 |5.0185.6 415 A84y1, 20 45
PERFORATE
Clearly, two such pairs are there that satisfy the condition given.
Hence, option Cis correct.
3.
A D J E C T I V E
+1l +1l +1l +1v +1v +1l +1l +1l +1l
B C S J U F
Clearly, there are two vowels | and U.
Hence, option Cis correct.
4.
Ty
BEHAVY I OUR
I A

Hence, option Cis correct.
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1°* and 5" letters of Barber are B and E.
2" and 6" letters of Parking are A and N.

Using all 4 letters together we can make 2 meaningful English words — BEAN (an edible seed) and
BANE (cause of distress).

Hence option D is correct.

E N C
E D C
E N C H
E F G H
N T R E N C H
N M L K J I H

Clearly we can see 3 such pairs.

Hence option D is correct.

Word given: AVENGERS

New word : AUEMGDRR

2" 37 6™ and 8™ letters of the new word are U,E,D and R.

Two meaningful words are RUDE and DURE which means Harsh and Hard respectively.
Thus only | and Ill represent such words.

Hence option C is correct.

The word : GASTROINTESTINAL

The pairs are (only in backward direction):
STROIN

NTESTI

STROINTESTI
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10.

INTESTINA
NAL
There are five such pairs.

Hence, option E is correct.

The givenword: PLASMODIUM

1% 4™ 6™, 8™ and 9™ letters are P, S, O, | and U respectively.
The only word which can be foremd with these letters is PIOUS
And the 4" letter from the right end is I.

Hence, option B is correct.

Theword:STREPTOCOCCUS
The pairs are:

1.ST

2. REP

3. TREPTO

4. OCCUS

There are four such pairs.

Hence, option A is correct.
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